2(a) Attempts to substitute cos@ = 1 — %92 into either 1+ 4cos@ or 3cos’ @ M1 1.1b
. pe L)
1+4cos@ +3cos” 0 =~1+4 1—50 +3 1—50
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:1+4[1——9j+3(1—0 +—9J Ml 1.1b
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=1+4-20"+3-30 +29
=8-50" * Al* 2.1
3)
OINNES N _
e Adele is working in degrees and not radians
. St . B1 2.3
e Adele should substitute 8 = 130 and not @ =5 into the
approximation
.. 2
(b) (i) 8 — 5(%) = awrt 7.962, s0 0 = 5° gives a good approximation. BI 2.4
)
(5 marks)

Question 2 Notes:

(@)
M1:
M1:

Al*:

(a)(ii)
Bl:
(b)(i)
B1:
(b)(ii)
B1:

See scheme
. 1 2 . 2 1 2 ’
Substitutes cosd =1 — 50 into 1+ 4cos@ + 3cos” @ and attempts to apply | 1 — ?9

Note: It is not a requirement for this mark to write or refer to the term in 6*
Correct proof with no errors seen in working.
Note: It is not a requirement for this mark to write or refer to the term in 6*

See scheme

See scheme

Substitutes 6 = % or % into 8—56° to give awrt 7.962 and an appropriate conclusion.






